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1.

(1.5 43) What is wrong with the man's marker pen?
A.It is out of ink.
B.It is too small.

C.1t is of the wrong color.

. (1.5 73) What does the woman suggest the man do?

A.Take deep breaths.
B.Write words on cards.

C.Memorize the speech.

. (1.5 73) Where are the speakers probably ?

A.In a photography studio.
B.In a photography class.

C.At a photography exhibition.

. (1.5 43) How long has the woman been coughing?

A.For three months.

B.For two months.

C.For a month.

. (1.5 73) Which is usually the man's best subject?

A.English.
B.Physics.

C.Maths.
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6.

(3 43) (1) Why does the man give up playing soccer?
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A.The weather is bad.
B.The park is closed.
C.He has to attend a wedding.
(2) What is the probable relationship between the speakers ?
A Friends.
B.Brother and sister.
C.Husband and wife.
. (341> (1) What are the speakers doing?
A.Having a drink.
B.Climbing a mountain.
C.Taking a rest.
(2) How does the man sound?
A.Cheerless.
B.Positive.
C.Calm.
. (4.573) (1) What will the man do after finishing his degree?
A.Go to graduate school.
B.Start his own business.
C.Work at a company.
(2) What does Tony probably do?
A.He's a repairman.
B.He's an engineer.
C.He's a chairman.
(3) What does Tony's company sell?
A.Software.
B.Computer parts.
C.Intemet services.
. (6 73) (1) What kind of race will the woman run?
A.Short distance.

B.Medium distance.



